Packer Crochet Pattern

We’'re using bernatt premium yarn with a 5mm crochet. It's makes a packer that is around
5.5 inches high, at its widest point (bottom of the balls) it's around 3.5 inches wide. Shaft is
around 5.5 inches high and 5 inches of circumference.
PATTERN NOTES : Written in US terms
Made to be done with a stitch marker

Vocabulary : sc = single crochet

+ Stitches to know inc. = increase (two sc in same stitch)
dc. = decrease (join two stitches together)

ch = chain
f/o = finish off
Magic ring
BALLS :
Start with magic ring
1. 5sc(5)

2. Increase in each stitch (10)

3. (inc. -sc) X5 (15)

4. (inc. - sc - sc) X5 (20)

5 & 6. 20 sc (20)

7. F/O cut, save for later

8. Repeat step 1 to 6 then jump to step 9

9. Join with 1st piece with 5 sc then continue around with :14 sc - dc - dc - 13 sc-dc -dc *
* Depending on how you joined both pieces, you may have to modify a bit. The important is
that the first 2 dc are from either side of the jonction and that in the end, you have 30
stitches. You can either adjust by modifying the number of sc after the first 2 dc, or by
modifying the number of decrease at the end. Remember, you must finish with 30 stitches.

Tuck tails inside

10. 13 sc-dc - 13 sc - dc (28)

11.dc-11sc-dc-dc-9sc-dc(24)

12. 24 sc (24)

13. (dc - 10 sc) X2 (22)

14. (dc - 9 sc) X2 (20)

15. 20 sc (20)

Begin filling

16. (dc - 8 sc) X2 (18)

17t021.18 sc (18) *

* If you want a longer packer, you could
add a few rows here to the balls. You will be
noticed of where to add rows to the shaft if you want a longer one too.

22. (dc -7 sc) X2 (16)

23. 16 sc (16)

24.16 sc (16) + 4 sc

Finish filling

25. Fold in 2 and join to make a row of 8 sc

26. F/O and cut. Save for later.
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GLANS :
Start with magic ring
1. 4sc(4)
2. inc. in each stitch (8)
3. (inc.-sc) X4 (12)
41t06.12sc (12)
7. F/O leaving a long tail. Save for later.

SHAFT :

1. ch 16 (16)

Join for next row

2to4.15sc (15)

Put glans equal inside the shaft, equal to row 4, than join
with the glans’ tail to sew it using back loops of shaft and front
loops of glans.

5. (4 sc-inc.) X3 (18) *

* Use both loops from the shaft only

6. (5 sc-inc.) X3 (21)

7.(3sc-dc) X4 +1sc(17)

8to11.17sc (17) ™

* If you want a longer shaft, add the number of row you want
here

12. 13 sc-ch 1 -flip (13)

13.13 sc-ch 1 -flip (13)

14. 12 sc (from now on and until the end, begin in 2nd stitch
from hook) - ch 1 - flip (12)

Begin filling

15. 11 sc-ch 1 -flip (11)

16. 10 sc - ch 1 - flip (10)

17.9sc-ch 1-flip (9)

18.8 sc-ch 1-flip (8)

19. 7 sc-ch 1 -flip (7)

20.6 sc-ch 1 -flip (6)

21. F/O leaving a long tail (about 12” / 30cm)

Begin sewing on 1st piece (balls). Continue filling as you go.




FEATURE : If you want, you could add a loop at the top so you can pass an elastic band
through to wear as a harness. Here’s one way of doing it.

1. ch8-flip

2. 7sc-ch1-flip

Repeat step 2 for as many rows you think you need (depends on the height you want to
wear it and the width of the elastic band you’ll use). | personally did 16 rows.

3. Join top and bottom together with 7 sc

4. F/O leaving a long tail.

5. Sew it to the top of the balls.




